Algebra I 
End Of Course Review
Name_________________________
Answers will be posted at http://twitter.com/mskmath. 

Remember: NO WORK = NO CREDIT = NO KIDDING!!!
Domain: Graphing
Objective 1: Understanding Characteristics of Graphs
1.  The graph of the function 
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 is shown below.
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If the line is translated 2 units down, which equation will best describe the new line?
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2. Which graph is described by 
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3. The graph shows the total number of square feet of wood surface that can be covered using a particular paint.
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Which graph best represents the total number of square feet that can be covered by a different paint at a rate of 75 square feet per quart?
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4.   The graph of 
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 is shown below.
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Which graph below best represents the graph of this parabola that has been translated 2 units up?
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Objective 2: Graphing Problems
5.  The table shows a set of values for x and y.
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Which equation best represents this set of data?
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6.  Martin arranged some cans of soup in a triangular pattern on a table. The top row had 1 can, the second row had 2 cans, and the third row 3 can, and so on. The arrangement is shown below.
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Which equation gives the total number of cans in the arrangement, T, when the cans are stacked n rows high?
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7. Which inequality best describes the graph below?
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8. The graph of a function is shown below.
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Which equation best describes the function?
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Objective 3: Linear Functions
9.   Which equation describes the data in the table?
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10. Which equation describes the graph below?
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11.  What is the y-intercept of the function 
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12.  What is the y-intercept of the function graphed below?
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Domain: Equations and Inequalities
Objective 4: Solve Equations, Inequalities, and Systems of Equations
13.  Paige has started saving for a new television. She saved $75 last month. She plans to add $50 each month until she has saved at least $400. Which inequality can be used to find m, the number of months it will take Paige to save for her television?
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14. The perimeter of a rectangular garden is 72 feet. Which system of equations can be used to find the dimensions of the garden if its length, l, is 3 times its width, w?
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15.  The equations of 2 lines are given as
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What are the coordinates of the point of intersection?

A (5
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B (4, 3)

C (3, 4)

D (3, -4)

E (-1,-4)
16.  Mark has $4.95 in quarters and dimes. He has 3 times as many dimes as quarters. Which system of equations can be used to find q, the number of quarters, and d, the number of dimes, that Mark has?
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Objective 5: Formulate and Solve Quadratic Equations
17.   The area of a square is described by the equation 
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 where x is the length of a side in feet. What is the length of the side of the square?

A 162 ft

B 108 ft

C 54 ft

D 18 ft

E 9 ft

18. The area of a rectangular piece of paper is described by the equation 
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 where w is the width of the paper in inches. What is the width of the piece of paper?

A 6 in

B 9 in

C 12 in

D 18 in

E 36 in
19.   The area of an isosceles right triangle is described by the equation 
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 where x is the height in inches of the triangle. What is the height of the triangle?

A 3 in

B 4.5 in

C 6 in

D 9 in

E 36 in

20. A rectangle rug has an area of 270 square feet. The length of the rug is 3 feet longer than its width. Which equation can be used to find w, the width of the rug?
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Objective 6: Factor Polynomials
21.  The area of a rectangle is given by the equation 
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 where x is the width of the rectangle. What is the width?

A 9

B 10

C 12

D 15

E 18

22.  What is the value of x in the following equation?
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A -8

B -4

C -3

D 3

E 4
23.  What is the value of y if x is 2?


[image: image79.wmf]3

6

x

y

x

=


A 
[image: image80.wmf]1

8


B 
[image: image81.wmf]1

6


C 
[image: image82.wmf]1

4


D 
[image: image83.wmf]1

2


E Not Here
24. The area of a triangle is given by the equation 
[image: image84.wmf]2
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 where b is the length of the base of the triangle. What is the length of the base?

A 8

B 9

C 12

D 16

E 18

Domain: Problem Solving

Objective 7: Analyze and Solve Problems with Exponents, Quadratics, and Right Triangles
25.  A part of the graph of the equation 
[image: image85.wmf]2

1

42

2

yxx

=-+-

is shown on the coordinate grid.
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Between which 2 integers will the graph again cross the x-axis?

A Between -2 and -1

B Between -1 and 0

C Between 0 and 1

D Between 1 and 2

E Between 2 and 3

26.  Between which 2 positive integers will the graph of 
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A Between 0 and 1

B Between 1 and 2

C Between 2 and 3

D Between 4 and 5

E Between 6 and 7
27.  The quadratic function f(x) is evaluated for different values of x, as shown on the table.
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The graph of f(x) has a line of symmetry at 
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For which other value of x is f(x) equal to 0?

A -6

B -7

C -8

D -9

E -10
28. The quadratic function f(x) is evaluated for different values of x, as shown on the table.
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The graph of f(x) has a line of symmetry at 
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For which other value of x is f(x) equal to 0?

A Between -1 and 0

B Between  0 and 1

C Between  1 and 2

D Between  2 and 3

E Between  3 and 4

Objective 8: Analyze and Solve Problems with One or Two Variable Situations
29.  Mrs. Adams rented a truck to move some furniture. The rental charge is $120 per day plus $0.20 per mile. She wants to spend no more than $200, not including tax. What is the maximum number of miles that she can drive the truck?

A 80 mi

B 200 mi

C 400 mi

D 600 mi

E 1000 mi
30.  A company uses this square figure as its logo in many different sizes throughout its operations.
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The table of values describes the shaded area of the square units, y, as a function of the length of a side, x units.
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Which equation describes this functional relationship?
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31.  The sides of a rose garden in the shape of a right triangle are in the ratio of 8:15:17. If the perimeter is 60 feet, what is the length of the shortest side?

A 5
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B 12 ft

C 20 ft
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32. The cost of shipping a package overnight from Cedarville to Martindale is $4.50 plus $0.85 per ounce. Which equation can be used to find C, the total cost to ship a package that weights x ounces?
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33.  The graph best represents the solutions for which inequality?
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34. Mr. Mathews opened a new package of graph paper that contained 50 sheets of paper. He gave the same number of sheets of graph paper to each of his 8 students. He had more than 12 sheets of graph paper left. Which is the greatest number of sheets of graph paper that Mr. Mathews could have given to each student?

A 3

B 4

C 5

D 6

E 7
35.  Mark and his brother went on a canoe trip. The graph shows the relationship between the distance traveled and the time of day.
What was the brothers’ average speed in miles per hour from 9am to 11am?

A 2.5 mph

B 3 mph

C 3.5 mph

D 5 mph

E 7 mph
36. The graph shows the average sales in a small cafeteria in an office building.
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Which is a reasonable inference from the information on the graph?

A Less than 45% of the day’s sales are made before 11am.

B Less than half of the employees in the office building eat in the cafeteria.

C More than 50% of the day’s sales are made from 11am to 2pm.

D About 80% of the office building’s workers leave by 1pm.

E Less than 5% of the cafeteria’s sales are made after 2 pm.

Objective 9: Analyze and Solve Problems with Probability, Ratios, and Proportions

37.  Which function includes all of the ordered pairs in the table?
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38. The chart shows the prices of a medium pizza with different number of toppings.
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Which equation shows the relationship between the total price, P, and the number of toppings, t ?
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39. Which function includes all of the ordered pairs in the table?
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40. Which set of ordered pairs satisfies the function 
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